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3. TH (FA&ZE) (Hanning Window)
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a, =-31dB, o, =-44dB
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5.4 m 2% (Blackman Window)
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B T JEIRL (dB) H 7 25e /N J(dB)
2.120 3.00 T /N +0.27 -30
3.384 4.46 m /N 10.08647 -40
4.538 5.86 m /N +0.0274 -50
5.658 7.24 /N +0.00868 -60
6.764 8.64 1 /N +0.00275 -70
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wn=kairser(30,4.55);
nn=[0:1:29];

alfa=(30-1)/2;
hd=sin(0.4*p1*(nn-alfa))./(p1*(nn-alfa));
h=hd.*wn";

[hl,wl]=freqz(h,l);
plot(wl/pi1,20*1ogl0(abs(hl)));
axi1s(]0,1,-80,10]);

grid,;

xlabel (" H—{LiE/n")

ylabel ("1gE/dB")

97



= B
7.3 FIH MK AEVE BT FIRDF

n TERARVES SRR B Ha(e!”) 7E[0,2m] F 25 AR R
N, BESURRALEFFF:
H(k)=Ha(e')| ,. k=0,1,.,N -1

w=——-k
. AR "
1 Nl i2%kn
h(n):iDFT[H(k)]:NZH(k)e N
k=0

s HAGEHCA: .
H(z) = Zh(n)z‘”
n=0

98



BRI

kz—l

H (k)

1-W

E
k=0

1—zN
N

R(2)

99



w
(b) BBIE Y 28 AB IR B2 4 14

100



SEILEPEAHAL H(K) DL 2 B 2K 17

BILREALZK? GFARRAR? itbm?

101
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